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2017 2017 Z=7H(B-A) 2017 2017 =2t
2 s = 1X 5= PEN R 2 st = 1X &4 2At =4
(A) (B) U= | HIS(%) (A) (B) o 2>
s A 180,378 165,051 | - 15,327 | - 8 g Al 180,378 165,051 | - 15,327
RPN UAH|E
oot o ol & A 21,173 19,085 |- 2,088 | - 10 AP olZ4H]| = A 126,789 128,903 2,114
T Ooa T e =
Al R el 21,173 19,085 |- 2,088 | - 10 =01 88,617 88,376 | - 241
BExgsd | Exgds =~ A 13,448 11,912 |- 1,537 100 Mg 19,310 21,371 2,061
Ezg ¢
N = 13,448 11,912 |- 1,537 100 e 8,841 9,153 312
T | Feadsdd E; | 3,000 4,200 1,200 40 AslEEREF 9,745 9,723 | - 22
NY=2F - 1,800 1,800 100 7| EtE M| 276 279 3
HIX| Y =2 3,000 2,400 | - 600 | - 20 R E=ZH| &~ A 1,000 684 | - 316
CH =N =N
~ol ~ol I | 138,071 124,929 |- 13,142 | - 10 7| zh2odd| 500 584 84
T e T e
27| 2420 _
ol 138,071 124,929 |- 13,142 | - 10 3| ofH| 500 100 | - 400
T =
olgz olg= 2 A 4,654 4,835 181 4 2| E | 15,624 7,365 | - 8,259
HAdzolgZ 3,857 4,037 180 5 0d| 359 303 | - 56
MATZo|gEZ ~24| g
i, 797 797 0 0 PR 2,384 975 |- 1,410
(—?—’LJEI) TTE
s el T A | 31 90 59 191 222 9,145 4,989 |- 4,157
7| Eloy| =2
o:x[j\lol 1 3 2 230 N PSR ol a=s 2,830 993 |- 1,837
7| et 30 87 57 190 Xp2d| 806 106 | - 700
7| Et2 | 100 -1- 100
A=Ay AlAMH] EA 3,440 2,982 | - 458
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2017 2017 2t
il 5t = EP El = 1x&=4 PENEP!
(A) (B) T (%)
Al A | 1,240 2,240 1,000 81
AHobE S| 1,200 80 1,120 93
Al M Zd| 7 X[H| 1,000 662 338 34
Y| 2~ A 28,152 22,533 5,619 20
A A H| 20,015 18,086 1,929 10
+=37|2gH| 1,319 1,379 60 5
I S| - 105 105 100
o| ZH| 983 966 17 2
A =] 5,835 1,999 3,836 66
HxZ
Aot E 319 283 36 11
2 F AL H] 319 283 36 11
QAXH
Fotu| 2 A 100 54 46 46
SEMH| A 100 54 46 46
Sl ZAu 2 2~ A 334 262 72 22
At —
U X R A H| A 334 262 72 22
X ghAd] A
o] eS| 50 10 40 80
S| X EAH|A 50 10 40 80
A AE2 E; | 1,087 616 471 43
At — ’
HMR = 100 20 80 80
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B s = 1258 | 2xtxd 2 £l = 12458 | 2xtxz
(A) (B) O 4= HI = (%) (A) (B) OH = HIZ (%)
o|&x 2 100 20 | - 80 | - 80
2lof x| 2 100 30 |- 70 | - 70
2 3ajo|M 100 30 |- 70 | - 70
£ utOpALK] 100 54 | - 46 | - 46
2EXE 100 25 | - 75| - 75
A ALRER| 100 50 | - 50 | - 50
T 387 387 - -
EETNETEN BN
Atols| B | 1,141 330 |- 811 |- 71
E DAl 1,141 330 |- 811 |- 7
x| o ALS] E | 1,505 429 |- 1,076 | - 71
27} gl
E2AIAH| | 299|215 805 259 |- 546 | - 68
AtElE P2
2| 100 100 - -
ArE S AL 600 70 530 88
Zelx pal
= Aol E | 538 218 |- 320 | - 59
I gFALOiH
At T T i 238 138 |- 100 |- 42
el g
Abor| 300 go|- 220 |- 73
PN S ES ~ A 200 100 |- 100 -
SN 200 100 |- 100 -
offH ] of 1|y A~ A 100 280 180 180
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hetg 100 180 80
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st Al 180,378 165,051 |- 15,327 | - 8
Spe ol pu| 2 A~ A 21,173 19,085 |- 2,088 | - 10
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olad| 24l 21,173 19,085 |- 2,088 | - 10 |2aH|24¢ 2t = Al 312708 = 11,479,320
AA 28|52 AAI 2H| 4H 12718 = 6,473,870
ZHA 2| 5= AT 2| 4 x1270 Y = 976,500
FEto| ZIEH|$¢ ZEto| FIEH| 4-«1270 Y = 155,610
HEIHol| Hxaaol A 13,448 11,912 |- 1,537 | - 11
ANEEXRZE 12,775 11,524 |- 1,251 | - 10 |4AI S0 FHAH| 248,961 x4W«1270 Y = 11,523,886
180 -1- 180 | - 100 | AKX MAT SAKE olgd = -
174 105 | - 70 | - 40 | EsCHEE| J|ZF2XF 34,2809 %5 = 104,560
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- — Edlo -
319 283 36 11 |SEZ23 101Ct 35,4009 x5 «23] = 283,200
T | FZF A~ A 3,000 4,200 1,200 40
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QAUZo | 2dF0
—’F‘IZ! 1 —*r;.' 1 A~ A 138,071 124,929 |- 13,142 | - 10
7122430
ol 138,071 124,029 | - 13,142 | - 10 |27 42 0{¢ dtol2 Al 4m <1272l =| 63,708,960
=
I ZFZAo 24 5 «1270 =| 58,698,400
QI F ot x| JHAE 270 E = 2,421,920
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2017 2017 Z=ZH(B-A)
z+ = = 1X5 PR of A A &= U o (che o o#)
(A) (B) oK =~ HIE (%)
st Al 180,378 165,051 |- 15,327 | - 8
ASH] ol Z4H| | 126,789 128,903 2,114 2
2AZH7235) 1,670,000 1702
=0 - - Jlez = ) ,

=0q 88,617 88,376 241 0 pIea RN (623%) 1,761,0002+474 2 = 8,794,000

2AZH6345) 1,847,000 7702 = 12,929,000

ZHSZER AL 1,484,0009 x 1270 & = 17,808,000

QA SAL 1,263,000 x3H 12702l =| 45,244,940

Z=2|2 300,000 1270 = 3,600,000

Mg 19,310 21,371 2,061 11 |BARI=E (RHEEH 217 50,000 «1270 Y = 600,000

He|geeg 2IZF 7|2 Z«5%+1271 & = 1,087,050

LS ZFAL QAR SAIZY =2 2l«127] Y

INFITIES= SEFA2SDBAE ZHA2HE ) 960 350

<IN M| 100,000 x3H 1270 & = 3,578,750

PN 7| ZERF 50,000 270 = 100,000

EEFITY 2IZF 7| 2 Z+60%+23] = 2,121,000

Pa PN = HE AxtrEH 15 = 932,020

ExZ g ,

e 8,841 9,153 312 4 522 ¢ EFNEZ & A2x1/12 = 9,153,340

PN R = = 9,745 9,723 | - 22 | - 0 |Z2olidgEdZ E dEx4.5% = 4,357,880

e Pa PAY R N & A2%3.06% = 3,276,600

AUQuEEE ZoHLE S 26.55% = 214,340
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z S = 154 PENEF] of & & F of o (che )
(A) ) ML= | HIZ(%)
1Z2EH= & HAE%1.3% = 1,134,070
MYEHZ Z AE«0.78% = 740,340
7| Ef= 4| 276 279 3 1 |HEMEH| YEMEFUHE = 198,000
HZEI G| el EFHZAXRZHE = 81,480
| 1,000 684 |- 316 | - 32
7| | 500 584 84 17 |71 229y| 29| § = 584,400
od S| ated sl ol A
3oy 500 100 [ a0 | - so [F]or FEEHA xlofarslgeislolAl choel S = 100,000
| 15,624 7,365 |- 8,250 | - 53
0| 359 303 | - 56 | - 16 | =, 2 =&H| 2L, o &3H| = 303,000
+g4| o
o 2,384 975 |- 1,410 | - 59 |AE $%=2 45 7 = 19,160
T T
ZE A2 E 2 JlE ZHE ARE U AMENEZEFYY] = 955,350
ZEeF 9,145 4,989 |- 4,157 | - 45 |MEeE MElRBAIERRE = 120,720
M2 MII1QBAIER = 1,179,450
FMAlER FMAIZR = 56,320
o|BH 7|8 £=HHy| o|Z2H 7|2 £7H| 30,0008 125 = 360,000
CIE{UAIE R CIE{UAIB R = 172,130
2teld] M s=saed sEd = 3,099,919
H M S22 2,830 993 |- 1,837 | - 65 |ZAIZIANT|IAAIR AR 13]%49,3908 = 49,390
Sl 2 5 SIMEEHE = 39,600
EXA|Mduj Mo EHZ SN AR 9HI|E = 904,300
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= g = 1% 52 PESESPE of & & & i o (o9l )
(A) ) U= | HIE(%)
R 806 106 |- 700 | - 87 |AtER RO 30,000 103|+@ = 106,000
7|El2 | 100 -1- 100 | - 100 |2 x| =] Ao S| = -
AhEME | AlAMH] | 3,440 2,082 |- 458 | - 13
AlMH| 1,240 2,240 1,000 81 [MAA L B F, FX 25| AMM MBS, RAESH| = 2,240,000
N L] 1,200 80 |- 1,120 | - 93 |&H| % v|ZTFQH AlM gl ARHR HIE 7 = 79,800
Al M EH| X[ 1,000 662 |- 338 |- 34 g:g%% 2EIRA % 22 | RX| #2lH 5 = 662,400
Abeds| 29y| ~ A 28,152 22,533 |- 5,619 | - 20
M A 20,015 18,086 |- 1,929 | - 10 |54l & 2AH|(MA20) =, 2 M| 248,961 x5 «1270 & =| 11,523,886
FA gl BAH|(AHRE) F RA Fd| = 6,561,870
+=27| 2| 1,319 1,379 60 5 | 2Xt5=2H| olza 22 F % 7|N3 Fy| = 1,378,800
ol =] - 105 105 100 |zl =8| AAX} m=H| = 104,560
o|2H| 983 966 | - 17 | - 2 |=2HAM kM @Rl 2|, SFelkEH| = 965,620
1 2H| 5,835 1,909 |- 3,836 | - 66 |t L JtAHRY| 2olg] g Fdt GHP 2F = 1,998,700
i;;f;l & A 319 083 |- 36 |- 1
A= ZArAH| 319 283 | - 36 |- 11]|EEZEZ 75;:1%?433%)31';% 283,200
sENEl 2 oA 100 sa |- a6 |- 46
SEMH|A 100 54 | - 46 | - 46 |2=22ETYUH| SE2E FYH|IE = 53,820
= 'ig;:ﬁ 2~ 7 334 o2 |- 72 |- 2
SIS PPN PSEIES 334 262 | - 72 | - 22 |ZtEEETYUY| s EE FYUH|IE = 142,500
ZEfo| X &H| E&to| ZEH| g = 119,570
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2 ot = 1xz2=2 | oxzz of A A B U o (THel @ )
(A) ) P )
ENTIPN B
Aot 2 50 10|-  40|- e
2a|x| 2 A& 50 10|-  a0l|- so|eaixzgET| ojz4l 2a|X2RE TUH[R - 10,000
SxMEA] .
Abedy| 2~ A 1,087 616 | - 471 = 43
HMX= 100 20 | - 80 | - 80 |clE == ClE T2 5% Fd|&8 = 20,000
oj&x =2 100 20 | - 80 | - 80 |o|&xZE =22 Oj&xX2 T2J8 85 2H| 8 = 20,000
2o x| =2 100 30 |- 70 | - 70 |2MxE T2 ox7 T S FLUHE = 30,000
2| 2 zfo|M 100 30 | - 70 | - 70 |2l 2ol gl 3ol 2O EE£ FUH|E = 30,000
£ UOpAR| 100 sa - a6 |- a6 |ew opx AuoiAlx Z2OH 2E PoH|8 - 54,000
SX=E 100 25 1- 75 | - 7B I1ETAHE, 2 A=, 2 ZEOHYH 2 FeYH|S = 25,000
M AR A 100 50 |- 50| - 50 |lwama A MARE AAJof| TR 2E 2968 = 50,000
kil s 387 387 - - |zt SR AfHH] = 387,000
SEINTEN B
N A A 1,141 330 | - 811 - 71
S Z Al 1,141 330 |- 811 |- 71 |zral ey ZHA 2 BT = 330,441
x| o4 AL K} A A 1,505 429 |- 1,076 | - 71
2ol o
srg At | 2oiglesol 805 259 |- 546 |- 68 |2aieiasiel 2oig|els|ofA| ZictaH| S = 259,000
s|E200 9
At ;gl*hd 100 100 - N|uz=so pa Alsl=Eoel paly] S - 100,000
KH2d 2 ALK _ _ ]
S AR 600 70l- 530 | - s |xaEAR zax wa R ZAIKE, SR} ZhEEH] S = 70,000
=izt aal
ENCE n
e Aped | A A 538 218 | - 320 | - 59
2t 2 238 138 | - 100 | - 42 |Al”lu = XE2E oMb = 138,000
=l o) of 2p7)| at
I_A}°4Cl>:l| 300 80 | - 220 | - 73 |Al Azl gk 2l elodzbyfatd| = 80,000
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